Radius Milll RV

—_— ay V'

7

PIVI7 I

PAZIVRV

B 1Y —b Inserts
-
T
. @\ i
M | A7/ stainless Steels M (ory) M (wet) M o) FB) |\ ()
== LES Auminm Aloy " [*] ;ﬁggpg?ting Suggested retail price(¥)
FH BT Titanium Alloy | ‘é'\)gg_} gg
A mRI—R e | AAEE | Admh | R | RELE | SBELT | 9 szem | AX2040 SS010
2 ltem Code Cass | AX2040 | JM4160|GX2160|JS1025 |sD5010| r | A | T [JS1025
=4 | RPET10T3MOFN-A8 | ER - - - ° ° 1,490 | 2,090
L] [RPMT10TSMOEN-B8 | e | @ ° ° - - 930 —
S |RPMT10T3MOEN-C8 | " ° ° ° - - 5|10 (397 930 —
Z | RPHT10T3MOEN-B8 ) ° ° ° - 1,490 —
£ | RPHT10T3MOEN-C8 H ° ° ° - - 1,490 —
Y | RPET1204MOFN-A8 EfR - - - ° ° 1,530 | 2,150
= |RPMT1204MOEN-B8 | \u| @ ° ° - - 1,200 —
V" [RPMT1204MOEN-C8 | " ° ° ° - - 6 |12 |4.76| 1,200 —
RPHT1204MOEN-B8 | . | @ ° ° ° - 1,530 —
RPHT1204MOEN-C8 H ° ° ° - - 1,530 —

[(FE] AXO—h.GXO—h.JSO—NIBEX Y vF LY —ICRMBULFBADTTERELIEE L,
[Note] Please note that the AX coating, GX coating and JS coating do not cause a reaction in conductive touch sensors.

B ZfmE&ES Parts
XIBREEERANDEEICED, RSA4I/I\N— /U F, QUIEREERSLER]. 7—/I\BRVIGRIFTEDE S B TIEE X U, CIBfE - e BBULRILET .

2% To reduce environmental loads, drivers/wrenches, screw burning-prevention agent, and arbor screws are sold separately. We ask for your understanding and cooperation.

HECEEABULTHEDFBA(RIFE) Not included with product (sold separately)
IR 23 =~ -
e e 7— VBl RSAIN—/UoF |RUBEHHLE
Arbor screw Screw driver / Wrench | Screw anti-seizure agent
AR @
Shape|
— d IF—RAE
c With air hole
. G ME=TIC LI\ |z EE
ERHyS L2 @R mRa—k a |oblc|dal|f |EEE FoR | i (F2) ffi ()
Cutter body forque - | Su9gested Item code S Shape| Suggested Suggested
(N-m) | price (ié) price (¥) price (&) price (¥)
>4 | RVBSOOOR-O [265-141| 2.0 | 720 - - -|=]/—-|/—| — |104-T10| A [1,600
Shank | RV4SO0OOR-O [ 262-142| 2.9 | 720 - - - |=]1=|—-1] — |104-T15| A [1,710
F£375—| RVBMOOOR-O | 265-141| 2.0 | 720 - - -|=-|=-|—| — [104-T10| A [1,600
Modular | RVAMOOOR-O | 262-142| 2.9 | 720 - - -|=]1=-|—-1 — |104-T15| A 1,710
K7 Bore RV4B050R-5 ~ ~
K%+ ~F | RVABO63R-6 262-142| 2.9 | 720 [ 100-178 | M10x1.5(16|35|25| 8 |1,460 105-T15| B |1,760
inch size | RV4BO80R-7 262-142| 2.9 | 720 [100-180*" | M16x2.0 (24 |51 |35|14|1,460 P-37 | 840
RV3BOOOR-O [ 265-141| 2.0 | 720 | 100-183 | M8x1.25 |13|33|25| 6 |1,460(104-T10| A [1,600
RV4B040RM-4
7;;7 Bo;e RV4B042RM-4 262-142| 2.9 | 720 | 100-183 | M8x1.25 13|33 25| 6 | 1,460
#=U [Rv4B0O50RM-5 105-T15| B (1,760
mmsize | o\ AB063RM-6 262-142| 2.9 | 720 | 100-178 | M10x1.5 [16|35|25| 8 |1,460
RV4B08ORM-7 [ 262-142| 2.9 | 720 [100-179* |M12x1.75/18 4230|101 1,460
%1 O80AD7P—/N\BRLE. 41 YD—HA XLYBR YA AHRRVET, 1 Part size for arbor screw for @80 is different due to inlay size.

%2 BYNBICI7—. YIEBERIEHET 35S’ AP—/N\BRUEZEBL LSO,
(B 7—/\EORLTEH. YR—R I —ELTEDFEETHBATEET,

O] : REEERTY .

C68

@ : Stocked Items.

—EN : &EBLEH . — : Not manufactured.

%2 When supplying air or cutting oil to each cutting flute, please use this arbor screw.

[Note] Even with the screws included with the arbor, the arbor can be used as it is for center through.






